Ищенко А.        Задание № 4


predicates


город(symbol).


студент(symbol).


условие(symbol, symbol).


соответствие(symbol, symbol, symbol, symbol, symbol).

clauses


город(москва).


город(санкт_петербург).


город(новгород).


город(пермь).


город(томск).


студент(юрий).


студент(анатолий).


студент(алексей).


студент(николай).


студент(виктор).


условие(виктор, Г):- город(Г), not(Г=москва), not(Г=томск).


условие(юрий, Г):- город(Г), not(Г=санкт_петербург), not(Г=москва), not(Г=томск), not(Г=пермь).


условие(анатолий, Г):- город(Г), not(Г=санкт_петербург),not(Г=томск), not(Г=пермь).


условие(алексей, Г):- город(Г), not(Г=санкт_петербург), not(Г=пермь).


условие(николай, Г):- город(Г), not(Г=санкт_петербург).


соответствие(Юрий, Анатолий, Виктор, Алексей, Николай):- город(Юрий), город(Анатолий), город(Виктор), город(Алексей), город(Николай),
условие(юрий, Юрий), условие(анатолий, Анатолий), условие(виктор, Виктор), условие(алексей, Алексей), условие(николай, Николай), 
not(Юрий=Анатолий), not(Юрий=Виктор), not(Юрий=Алексей), not(Юрий=Николай), not(Анатолий=Виктор), not(Анатолий=Алексей), not(Анатолий=Николай), not(Виктор=Алексей), not(Виктор=Николай), not(Алексей=Николай).

goal


соответствие(Юрий, Анатолий, Виктор, Алексей, Николай).
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